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OR (3121an)

State and explain the working of a full wave rectifier
with the help of circuit diagram and wave forms.
Write disadvantage of a half wave rectifier also.
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9. Draw the circuit diagram of a single stage transistor
amplifier. Write the function of each component
used in circuit.
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OR (3121an)

State and explain phase shift oscillation write their
advantages and disadvantages over other oscilletor.
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Fund. Of EC
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries 6 marks.

79-C & u+ft ufg vl & SR <, UAS U BT 99 6 AF B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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(i)

State and explain biasing of transistor with the help
of circuit diagram. Why transistor is called current
controlled device?

gRuel SRAUTH &) Gerdl 9 ¢ifviex @
SRR Bl AR dAT AT B | ¢ifoiey
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OR(37214) (iii)

Describe op-amplifier. Draw characteristics of ideal
op-amplifier and explain it.

HTRIFA YD B AT B | AT
ATRIA ATUABRR BT AFRIIerer wfiad g
D AT DY | (iif)

What are 'OR' and 'XNOR' gates? Discuss them

with their truth tables. 4

IR AT TFEAIR e RT 22 ¢ g I
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OR (3121dT) (@iv)

State and explain D flip-flop. Discuss its application
also.
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3 1625402

TP S e SRS W Rad 4q@ gt
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Choke input filter is a
(a) Zero detector

(b) Average detector
(c) Peak detector

(d) RMS detector

AP ATTd fheex TP
@) = fsaex 2

(@) staa fseaqex @

(@) R feedex 2

(2) IR UH Ty feiqer @

The emitter of a transistor is generally doped
the heavies because it

(a) Has to dissipate maximum power

(b) Has to supply the charge carriers

(c) Is the first region of the transistor

(d) Must posses low resistance

P.T.O
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(xx) b ¢HIPD o—
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GROUPB

Answer all Five Questions.

gl uig g3 & SN < |

2.

5x4=20

State and explain how zener diode maintain

constant voltage across the load? 4

IR & UHIY ok SIS ReR dieces R =
—GTd HY HAT 87 ddr dAT ARAT BN |

OR (372rd)

What do you mean by varactor diode? How the
voltage variable capacitance varies with the change
in voltage across it?

NdeX SIS U AT FIT I3 22 sUD
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(@) srfere dlecw 9
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MOSFET can be used as a -

(a) Current controlled capacitor
(b) Voltage controlled capacitor
(c) Current controlled inductor
(d) Voltage controlled inductor

Hiuwe & AdeR fHar o a&ar =
(@) arT A guaiRa @ avE
(@) dleew frafa dafRa @ ave
(3) grT fREfa sTsaer @1 38
(%) dieew R sTsder @ ave

The most preferred high power output stage
for hi-fi AF amplifier is of the

(a) Class B push-pull type

(b) Class B single ended type

(c) Class A type

(d) Class C type

P.T.O
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() erfifexr

(2) urRIHeR

The AND function can be realized by using
only n numbers of 'NOR' gates on where n
equal to-

(a) 2

(b)3

(c)4

(d)>5

AR el &1 Ddd n AEIRI &I AGER
B U~s B BT Tedrd fhar o1
AHdl & STl n

(@) 2 ® SRIER 2|

(d) 3 ® SRR 2|

(W) 4 ® RIER 2 |

() 5 d SRIEX B |

An instrumentation amplifier uses
(a) 1 op-amps
(b) 2 op-amps
(c) 3 op-amps
(d) 4 op-amps
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Latching current of an SCR is
(a) Below 10%

(b) 10 - 20%

(c) 20 -25%

(d) 25 -30%

o ) IR & dAfHT ary

(31) 10% & ®H BIdr 2

(d) 10—20% =Iar B 1

(7)) 20—25% BraT @

() Jeuifea aRT BT 25—-30% BIAT @

BCD code is

(a) A binary code

(b) Unweighted code

(c) The same as gray code

(d) The same thing as binary number
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10. Draw the circuit diagram of operational amplifier

11.

which acts as Summing Amplifier and Differential

Amplifier and explain it. 6

ITIRIFA JMUATBRIR S AT M eBRR
aaT feBRRIE ITUANBRR &) dvg wrd Hdr
2 &1 URue SU™ Efid 91 s Aar=An
N |

OR (3121a1)

State Barkhauson's criteria of oscillator with the help
of neat and clean diagram state and explain the
working of Hartley oscillator.

ey & IRET HsfRAT B Idarsd |
% YR SRU™ B FerIdl 4 sicd
MRy & &l B Ia™d dUT ARAT BN |

(a) Convert the following decimal numbers to its
binary equivalent :-

(i) 25
(ii) 749.25 6

(b) Covert the following decimal numbers to its
Hexadecimal equivalent :-

(i) 35
(i) 10767

P.T.O
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10. Draw the circuit diagram of operational amplifier

11.

which acts as Summing Amplifier and Differential

Amplifier and explain it. 6
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State Barkhauson's criteria of oscillator with the help
of neat and clean diagram state and explain the
working of Hartley oscillator.
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(a) Convert the following decimal numbers to its
binary equivalent :-

(i) 25
(ii) 749.25 6

(b) Covert the following decimal numbers to its
Hexadecimal equivalent :-
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